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£J | Addition S/
Try these. o
R - Sh e 2 o
7 3 = 2. 5¢ + l —: 3 D
e — 6. 2 + 9
W7 e = e SR
7 8O 8.3 Did= L e
IZ] Fill in the number. —
I. 2tens + (Sunits = | 3 tens + | 5 |UNNS
oENGitens) 1 AlnTS = tens + units
3. 6tens + Ilunits = tens + unit
k. Ltens + I6units = tens + units
5. 2tens + I9units = tens + units
| 6. - 6ilensis. + 4 2 units &= tens + units
i 7. 7tens + I4units = tens + units
8. 8tens + I3 units = tens + units
; q. 5tens. +  lilunits = tens + unit
| 10.8tens + I8units = tens + units
Il. 3tens + I5units = tens + units
12 6.tens "¢ [OUnitss = tens + units
| Match.
I. & tens+ 15 units 65 | 6.6tens + I2units !
| \
| 2. 2 tens+ 13 units 355 7. 3tens + 17 units 36
4 3. 5 tens+ 15 units 81 8. 5tens + 10 units 72
¥
! k. 7 tens+ || units % | 9 ktens + [ units k7
i 1
i .
9. 8 tens+ Il units 33 10. 2tens + 16 units 60 n
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